

19, VD

1st and 2nd, 3rd and 4th, 5th and 6th

$$a_n = \underbrace{\frac{1}{r}}_{\times r} \times \underbrace{1}_{\times r} \times \underbrace{r}_{\times r} \rightarrow a_{10} = \frac{1}{r} \times r^9 \times r^1 \times r^0 \checkmark$$

(2) (10) - 1

$$\frac{a_{14}}{a_{12}} = q^2 \times r^2 \times 14 \checkmark$$

$$a_n = \sqrt{a_{n-2} a_{n-4}} \times \sqrt{a_{n-1}^2} \times a_{n-4} \times \underbrace{\frac{1}{r} \times r^9 \times r^0}_{a_9} \times a_n \checkmark$$

(10)

$$12A = \frac{1}{r} \times r^{n-1} \rightarrow 1204 \times r^{n-1} \rightarrow n-1 = 12 \rightarrow \boxed{n=13} \checkmark$$

(1)

$$q^2 \times \frac{94}{11} = 1 \rightarrow q = \frac{1}{\sqrt{11}} \rightarrow a_{10} = a_1 q^9 = 94 \times \frac{1}{\sqrt{11}} \times \sqrt{11} \checkmark$$

(2) - 1

$$P_2 = (a+r)^2 = 252 \rightarrow a+r = 14 \checkmark$$

(2) (10) - 1

$$P_2 = \sqrt{(a_1 a_2)^2} = 252 \rightarrow (a_1 a_2)^2 = 252 \rightarrow a_1 a_2 = \sqrt{252} = 14 \checkmark$$

(1)

$$\sqrt{r^a \times r^b} = \sqrt{r} \rightarrow \sqrt{r^{a+b}} = \sqrt{r} \rightarrow a+b = 1$$

(2) - 1

$$a \times b \rightarrow \frac{a+b}{2}, \frac{a}{r} \times \frac{b}{r} \times 1 \checkmark$$

$$(1-x)(1+x) = x^2 \rightarrow 1-x^2 = x^2 \rightarrow 1 = 2x^2 \rightarrow x^2 = \frac{1}{2} \rightarrow x = \pm \sqrt{\frac{1}{2}}$$

(1, VD)

$$\rightarrow x = \pm \frac{1}{\sqrt{2}} \rightarrow x = \pm \frac{\sqrt{2}}{2}$$

في 10 q

$$\frac{a(q^2+1)}{a(q^2+q)} = \frac{12}{11} \rightarrow 11q^2 - 12q^2 - 12q + 12 = 0 \rightarrow$$

$$\begin{array}{r} 11q^2 - 12q^2 - 12q + 12 \\ -11q^2 - 11q^2 \\ \hline -12q^2 - 12q \\ +12q^2 + 12q \\ \hline 12q + 12 \\ -12q + 12 \\ \hline 0 \end{array}$$

$$\rightarrow 11q^2 - 12q + 12 = 0 \rightarrow q^2 - 12q + 12 = 0$$

$$\rightarrow (11q-12)(q-1) = 0 \rightarrow q = \frac{12}{11}, q = 1$$

$$\rightarrow a(q^2+1) = 12 \rightarrow a(1+1) = 12 \rightarrow a = 3 \rightarrow 1, 3, 9, 27 \checkmark$$

$$\rightarrow a(q^2+1) = 12 \rightarrow a(\frac{144}{121}+1) = 12 \rightarrow a = \frac{12}{133} \rightarrow (12) 9, 27, 1$$

(2)

$$\left. \begin{aligned} a_1, a_2, a_3, \dots, r &\Rightarrow \boxed{a, r, r^2} \\ \Rightarrow a_1, a_2, a_3, \dots, q &\Rightarrow a, r, r^2, \dots \\ &\quad \& a_1, a_2, a_3, \dots, 1 \end{aligned} \right\} \begin{aligned} a_n &= 1, r, r^2, \dots \\ &\quad \& \\ a_n &= q, r, 1, \dots \end{aligned}$$

(2)

$$S_n = a \left(\frac{q^n - 1}{q - 1} \right) = r \left(\frac{r^n - 1}{r - 1} \right) = r^n - 1 = 290 \text{ FA} \checkmark$$

(2)

$$P_{10} = \sqrt{(a_1 \cdot a_{10})^{10}} \rightarrow (a_1 \cdot a_{10})^{10} = (r \cdot r \cdot r^2)^{10} = \boxed{r^{10} \cdot r^{10}} \checkmark$$

$$a_n = \frac{a}{q}, a, aq, aq^2, aq^3, \dots$$

$\downarrow \quad \downarrow \quad \downarrow \quad \downarrow$
 $a - a/q, aq - a, aq^2 - aq, aq^3 - aq^2$

(2)

$$\rightarrow \frac{a}{q}(q-1), a(q-1), aq(q-1), aq^2(q-1)$$

$\times q \quad \times q \quad \times q \rightarrow \boxed{q \text{ قسمة}} \checkmark$

$$\sqrt{aq(q-1)aq(q-1)} = \sqrt{a^2(q-1)^2} = a(q-1) \rightarrow \sqrt{a_1 a_n} = a_1 \rightarrow \boxed{q \text{ قسمة}} \checkmark$$

$$a_n = a, a+d, a+2d, \dots, a+(n-1)d$$

(2)

$$a + a + d + a + 2d + \dots + a + (n-1)d \Rightarrow na + (d + 2d + \dots + (n-1)d) \quad (2)$$

$$\Rightarrow na + (1 + 2 + 3 + \dots + n-1)d \Rightarrow na + \frac{(n-1+1)(n-1)}{2} = na + n \frac{n-1}{2} d$$

$$\Rightarrow \boxed{\frac{n}{2} (2a + (n-1)d)} \checkmark$$

$$\left. \begin{aligned} S_n &= a + aq + aq^2 + \dots + aq^{n-1} \\ qS_n &= aq + aq^2 + \dots + aq^{n-1} + aq^n \end{aligned} \right\} S_n - qS_n = a - aq^n$$

$$\Rightarrow S(1-q) = a(1-q^n) \Rightarrow S = \frac{a(1-q^n)}{(1-q)} \Rightarrow S_n = \boxed{a \left(\frac{1-q^n}{1-q} \right)} \checkmark$$